

## PO BOX 447 BETSY LAYNE, KY 41605 | PH: 606.478.5851 | FAX: 606.478.5266

Gwen Pinson
Executive Director
Kentucky Public Service Commission
211 Sower Boulevard
Frankfort, Kentucky 40601

RECEIVED

FEB 04 2019

PUBLIC SERVICE COMMISSION

January 31, 2019

Re:

**B&H Gas Company** 

Case No. 2018-00433-Filing Deficiency – Second Attempt

Dear Ms. Pinson:

Please accept this letter as the response of B&H Gas Company to the deficiency letter you sent dated January 29, 2019. Attached please find an original and ten (10) copies of the requested and corrected forms BA-DB completed for each class of customer service.

Thank you for your attention to this matter.

**Bud Rife** 

**B&H Gas Company** 

**President** 

# Revenue from Present/Proposed Rates Test Period from <u>01-01-2017</u> to <u>12-31-2017</u>

# USAGE TABLE Usage by Rate Increment

### Class: Residential (Current Rate)

(1)	(2) Bills	(3) Gallons/Mcf	(4) First 2 MCF (Min Bill)	(5) Next 8 MCF	(6) Next 20 MCF	(7) Over 30 MCF	(8)	(9) Total
First 2 MCF (Min. Bill)	1497	1129	1129					1129
Next 8 MCF	1000	6093	2000	4093	20.00	80 S 2 2 W W W 2	8 15	6093
Next 20 MCF	249	3518	498	1992	1028			3518
Over 30 MCF	0	0	0	0	0	0		0
	27.22				1999			
Totals	2746	10740	3627	6085	1028	0	0	10740

# REVENUE TABLE Revenue by Rate Increment

(1)	(2)	(3)	(4)	(5)
(1)	Bills	Gallons/Mcf	Rates	Revenue
First 2 MCF (Min. Bill)	2746	3627	\$4.7938	\$13,163.77
Next 8 MCF		6085	\$1.9788	\$12,041.00
Next 20 MCF		1028	\$1.5611	\$1,604.81
Over 30 MCF		0	\$1.3103	\$0.00
		500		
Totals	2746	10740		\$26,809.58

## **Instructions for Completing Revenue Table:**

- (9) Complete Columns No. 1,2, and 3 using information from Usage Tables.
- (10) Complete Column No. 4 using rates either resent or proposed.
- (11) Columns No. 5 is completed by first multiplying the bills times the minimum charge.

Then, starting with the secondrate increment, multiply Column No. 3 by Column No. 4 and total.

RECEIVED

FEB 0 4 2019

PUBLIC SERVICE COMMISSION

# Revenue from Present/Proposed Rates Test Period from 01-01-2017 to 12-31-2017

#### **USAGE TABLE**

### Usage by Rate Increment

## Class: Residential (Proposed Rate)

(1)	(2) Bills	(3) Gallons/Mcf	(4) Customer Service Charge (Min Bill)	(5) All MCF Sold	(6)	(7)	(8)	(9) Total
Customer Service Charge (Min. Bil)	2746		2746					
All MCF Sold		10740		10740				
Totals	2746	10740	2746	10740	0	0	0	0

#### **REVENUE TABLE**

## Revenue by Rate Increment

(4)	(2)	(3)	(4)	(5)
(1)	Bills	Gallons/Mcf	Rates	Revenue
Customer Service Charge (Min. Bil)	2746		\$15.0000	\$41,190.00
All MCF Sold		10740	\$16.3209	\$175,286.47
				\$0.00
				\$0.00
Totals	2746	10740		\$216,476.47

## **Instructions for Completing Revenue Table:**

- (9) Complete Columns No. 1,2, and 3 using information from Usage Tables.
- (10) Complete Column No. 4 using rates either resent or proposed.
- (11) Columns No. 5 is completed by first multiplying the bills times the minimum charge.

Then, starting with the secondrate increment, multiply Column No. 3 by Column No. 4 and total.

# Revenue from Present/Proposed Rates Test Period from 01-01-2017 to 12-31-2017

#### **USAGE TABLE**

### **Usage by Rate Increment**

## Class: Commercial (Current Rate)

(1)	(2) Bills	(3) Gallons/Mcf	(4) First 2 MCF (Min Bill)	(5) Next 8 MCF	(6) Next 20 MCF	(7) Over 30 MCF	(8)	(9) Total
First 2 MCF (Min. Bill)	170	52	52					52
Next 8 MCF	54	322	108	214				322
Next 20 MCF	47	838	94	376	368			838
Over 30 MCF	37	1994	74	296	740	884		1994
Totals	308	3206	328	886	1108	884	0	3206

#### **REVENUE TABLE**

## Revenue by Rate Increment

(1)	(2)	(3)	(4)	(5)
(1)	Bills	Gallons/Mcf	Rates	Revenue
First 2 MCF (Min. Bill)	308	328	\$4.7938	\$1,476.49
Next 8 MCF		886	\$1.9788	\$1,753.22
Next 20 MCF		1108	\$1.5611	\$1,729.70
Over 30 MCF		884	\$1.3103	\$1,158.31
Totals	308	3206		\$6,117.71

#### <u>Instructions for Completing Revenue Table:</u>

- (9) Complete Columns No. 1,2, and 3 using information from Usage Tables.
- (10) Complete Column No. 4 using rates either resent or proposed.
- (11) Columns No. 5 is completed by first multiplying the bills times the minimum charge.

Then, starting with the secondrate increment, multiply Column No. 3 by Column No. 4 and total.

# Revenue from Present/Proposed Rates Test Period from 01-01-2017 to 12-31-2017

#### **USAGE TABLE**

### Usage by Rate Increment

## Class: Commercial (Proposed Rate)

(1)	(2) Bills	(3) Gallons/Mcf	(4) Customer Service Charge	(5) All MCF Sold	(6)	(7)	(8)	(9) Total
Customer Service Charge (Min. Bill)	308	-	308					
All MCF Sold		3206		3206				
Totals	308	3206	308	3206	0	0	0	0

#### **REVENUE TABLE**

### Revenue by Rate Increment

(1)	(2)	(3)	(4)	(5)
(1)	Bills	Gallons/Mcf	Rates	Revenue
Customer Service Charge (Min. Bill)	308		\$15.0000	\$4,620.00
All MCF Sold		3206	\$16.3209	\$52,324.81
				\$0.00
				\$0.00
Totals	308	3206		\$56,944.81

### Instructions for Completing Revenue Table:

- (9) Complete Columns No. 1,2, and 3 using information from Usage Tables.
- (10) Complete Column No. 4 using rates either resent or proposed.
- (11) Columns No. 5 is completed by first multiplying the bills times the minimum charge.

Then, starting with the secondrate increment, multiply Column No. 3 by Column No. 4 and total.